# Foreign Private Investments and Real Gross Domestic Product in Nigeria

EDEM, LAWRENCE MARK, Ph.D Department of Accountancy Heritage Polytechnic, Ikot Udota Eket, Akwa Ibom State. Email: lawrencemarkedem11@gmail.com Phone: 07039486275

> PROFESSOR JAMES K. ONOH Department of Banking and Finance, Madonna University, Nigeria Okija Campus

ASSOC. PROF. UWAKEME OKWUCHI SALLY

Department of Banking and Finance, Madonna University, Nigeria Okija Campus & ASSOC PROF. OKUMA, N.C (Ph.D, LL.B.) Department of Banking and Finance, Madonna University, Nigeria Okija Campus

# ABSTRACT

The study which covered the period spanning from 1981 to 2020 (40 years) examined the impact of foreign private sector investment on Nigerian economy. The study specifically explored the impacts of foreign private sector real investment (FPSRI) and foreign private sector portfolio investment (FPSPI) on the Real Gross Domestic Product (RGDP) of the Real Gross Domestic Product (RGDP) of Nigeria. The data for the study were sourced and obtained from the Central Bank of Nigeria (CBN) Statistical Bulletin and World Bank Database from 1981 to 2020. Econometric techniques of unit root, integration, ARDL regression, error correction model were employed in analyzing the data. The results showed that foreign private sector real investment (FPSRI) exerted significant positive impact on real gross domestic product (RGDP) growth during the period studied where as foreign private sector portfolio investment (FPSPI) exerted significant negative impact on RGDP growth both short and long runs. The study recommended that monetary and fiscal policies should be geared toward improving foreign private sector investment most especially, foreign real investment to boast economic growth in Nigeria.

KEYWORDS: Domestic, Foreign, Impact, Investment, Private, Nigeria

# **INTRODUCTION**

The growth of any economy depends mainly on the efficient performance of the private sector though the public sector remains indispensable, especially in developing economies such as Nigeria. The private sector provides the impetus for enhancing aggregate output thereby leading to greater employment of labour and improved welfare. With critical sectors such as agriculture, industry, trade and services, the private sector ensures that goods and services are produced to meet both local and foreign needs. It is against this background that government policies are continually targeted at enhancing the efficiency of the private sector.

In Nigeria, it is apparent that the lack of effective development of critical economic sectors is the main cause of the sluggish economic growth. The oil boom of the 1970s led to the neglect of the agricultural sector (which was the main foreign exchange earner of the Nigerian economy in the 1960s) to the extent that Nigeria began to import agricultural products such as palm oil, which were previously exported. According to Ijeh (2010), the celebrated 'boom' of the 1970s became a 'doom' for the country. The over dependence on crude oil exports as the main source of revenue and foreign exchange earner has placed the economy at great risk because of the vulnerability and volatilities of oil prices in the international market. The country remains largely underdeveloped and ravaged by poverty. Nigeria's domestic economic problems include, rising unemployment, high inflation rate, fiscal deficits. Externally, Nigeria is faced with problems of deficit in the balance of payment, high level of debt stock and unsustainable debt servicing burden to mention but a few. However, Nigerian government has been embarking on various economic reforms to address the aforementioned challenges.

During the oil boom era, Nigerian government openly encouraged foreign direct investment but in practice there were series of policies and pronouncements that served as disincentives to foreign direct investment. For instance, the Indigenization Decree of 1972 reserved exclusively certain businesses (ventures) for Nigerians. More importantly, regulated interest rate and fixed exchange rate regimes as well as restricted trade policy during the period provided wrong signals to potential investors. In July 1986, the Structural Adjustment Programme (SAP) was introduced, which led to the deregulation of the economy. It was aimed at addressing the inherent weakness of the Nigerian economy in order to set it on the path of sustainable growth. It consisted of the stabilization policies of international monetary fund to reduce budget and balance of payment deficits, reduce inflation and the structural adjustment policies of the World Bank.

In 1995, the Nigerian government established the Nigerian Investment Promotion Commission (NIPC) with a view to stimulating Foreign Direct Investment. Contrary to expectations the economy was still characterized by declining productivity, high rates of inflation and unemployment, a volatile exchange rate regime and balance of payments disequilibrium. The above mentioned industrial policy measures failed to exert significant impact on the Nigerian economy as expected because of myriads of factors ranging from the poor and haphazard implementation of the industrial policies; lack of set up mechanism to monitor the operation of the foreign and domestic enterprises to ensure compliance with the industrial policy objectives of Nigeria.

The care-free attitude towards the implementation of the industrial policies for the purpose of achieving sustained economic growth and development also contributed to the failure of those industrial policies. Just recently, in April 2014, the Nigerian GDP was rebased which was a departure from the 1990 base year for the country to a new one pegging in 2010. The rebasing exercise was aimed at realigning the economy to the present day realities for better appreciation on the nation's economic performance with likely policy implications. According to Yesufu (1996) the rebasing brought about large economic growth GDP increase by 89%, from \$270 billion to \$510 billion in 2014. The entertainment and communication industries contributed to the phenomenal growth but yet there was growth without development. This study therefore seeks to investigate the extent of contribution to the growth of Nigerian economy by the private sector.

#### **RESEARCH OBJECTIVES**

The aim of this study is to explore the impact of Foreign Private Sector Investment on Real Gross Domestic Product of Nigeria. Specifically, the objectives are as follows:

- 1. To explore the impact of foreign Private Sector real investment on real gross domestic product of Nigeria.
- 2. To explore the impact of Foreign Private Sector Portfolio Investment on real gross domestic product of Nigeria.

## **RESEARCH QUESTIONS**

The study sought answers to the following research questions:

1. To what extent has Foreign Private Sector Real Investment impacted on real gross domestic product of Nigeria?

2. To what extent has Foreign Private Sector Portfolio Investment impacted on real gross domestic product of Nigeria?

# LITERATURE REVIEW

# **Foreign Private Sector Real Investment**

In Nelson (2016), this is conceptualized as an investment which involves the injection of foreign capital by foreign investors into a company that domiciles and operates in a country or nation other than that of the investors. Foreign private sector real investment is also referred to as foreign direct investment which involves the transfer of the complete productive and organizational complex, embracing a set of factors of production such as capital, technology, knowledge, and marketing and management skills. It may also be referred to as a direct investment into production in a country other than that of the investor's origin, which could be in the form of acquisition of an existing company in a foreign country or by expansion of operations of the existing business in the foreign country. Sodersten (2004) opine that foreign real investment occurs when there is a transmission of a perceptible and imperceptible asset from a business entity which has bulk of its shares directly and indirectly in the custody of another business entity of foreign nationality into the host country with full or fractional control of the owner of the assets. That it is normally done with the intention of creating wealth in the host country.

# FOREIGN PRIVATE SECTOR PORTFOLIO INVESTMENT

This entails an investment in money market instruments comprising treasury bills, treasury certificates, government bonds to mention but a few, and the investors are predominantly foreign investors whose countries of origin are other than that of the domestic economy. Portfolio investment is also referred to as indirect or rentier investment. In the portfolio investment, ownership and use of capital remain separated from each other. A foreign portfolio investor has only a dejure control over the invested capital without being a defacto or having an effective control over the management, policies and other decision-making processes of the firm in which investment has been made.

## THEORETICAL REVIEW

This study anchors on the Harrod-Domar Economic Growth Theory which was developed independently by Roy F. Harrod in 1939 and Evsey Domar in 1946. The theory is a Keynesian model of economic growth, used in development economics to explain an economy's growth rate

in terms of the level of savings and capital. It suggests that there is no natural reason for an economy to have balanced growth. The theory notes that there are three kinds of growth such as warranted growth, actual growth and natural rate growth. Warranted growth rate is described as the rate of growth at which the economy does not expand indefinitely or go into recession. Actual growth is the real rate increase in a country's GDP per year. Natural growth is the growth an economy requires to maintain full employment. For example, if the labour force grows at 4 percent per year, then to maintain full employment, the economy's annual growth rate must be 4 percent.

Although, the Harrod-Domar model was initially created to help analyse the business cycle, it was later adapted to explain economic growth. Its assumptions are that of labour and capital, more investment leads to capital accumulation, which generates economic growth. The Harrod-Domar economic growth theory is mainly associated with less economically developed countries, where labour is in abundant supply in these less developed countries but physical capital is not, therefore, slowing down economic progress. Less developed countries do not have sufficiently high incomes to enable sufficient rate of saving, therefore, accumulation of physical – capital stock through investment is low.

#### **EMPIRICAL REVIEW**

Several studies have been conducted in a bid to determine the impact of foreign investments on economic growth. One of such studies is the one by Adegbite and Ayadi (2010), which investigated the relationship between Foreign Direct Investment flows and economic growth in Nigeria. The study utilized simple OLS regression analysis and conducted various econometric tests such as Autocorrelation, Heteroscedasticity, Multicollinearity, Normality text etc. to obtain the best linear unbiased estimators. The study found that the role of FDI on growth could be limited by human capital. The study concluded that FDI promotes economic growth and hence the need for more infrastructural development, sound macroeconomic environment and human capital development which are essential for attracting and boosting FDI.Adejumo (2013), investigated the relationship between FDI and the value-added to the manufacturing sector in Nigeria. The study employed the autoregressive lag distribution technique to examine the relationship between foreign direct investment and manufacturing sub-sector in Nigeria.

Anochie, Kalu and Mgbemena (2015) examined Foreign Direct Investment (FDI) flows and economic growth in Nigeria. The work covered a period of 1981 to 2009 using an annual data from CBN statistical bulletin. A growth model via the OLS method was used to ascertain the relationship between FDI and economic growth in Nigeria. The study also added Gross Fixed Capital Formation with a view to capturing the effect of domestic investment on the growth of the economy for the period under review. Interest rate and exchange rate were added as control variables in the model. Granger causality test was also employed to determine the direction of the causality between FDI and economic growth in Nigeria. The result of the OLS techniques indicated that FDI has a positive and significant impact on the growth of Nigerian economy for the period under study. GFCF which was used as a proxy for domestic investment has a positive and significant impact on economic growth in Nigeria. Interest rate was found to be positive and insignificantly affected the growth of Nigeria economy.

Egbo (2010) studied Foreign Direct Investment (FDI) inflow and economic growth in Nigeria. The study used annual time series variables computed from natural logarithms of GDP at current price, net inflow of FDI, inflation rate and exchange rates, covering a period of 27 years from 1981 to 2007. The study utilized data from secondary sources, which were analysed using the OLS technique. The findings showed that there is positive relationship between FDI and GDP which implies that FDI stimulates economic growth in Nigeria. Oni *et al*(2014) carried out a study on the impact of foreign private investment on Nigeria economic growth from 1980 to 2010. The variables used were GDP growth rate, foreign private investment, inflation rate, gross fixed capital formation, Net Export. Multiple regression technique was deployed.

The multiple regression technique results showed that foreign private investment, gross fixed capital formation and net export are positively related with economic growth while inflation rate has a negative. Osuji (2015) in his study on FDI and Economic growth investigated the relationship between FDI and Economic growth in Nigeria. Bounds testing approach and Autoregressive Distributed Lags (ADRL) model were used in model estimation for the period covering 1981-2013. Findings indicated that a long run (cointegrating) relationship existed between FDI and Economic growth. In the short run, FDI has a small positive but insignificant effect on growth while in the long run, it has a small negative and insignificant effect. The study also examined the effect of international trade and governments macroeconomic policies on the model and found that while economic policy had no significant effect, international trade had a strong impact on the growth.

## METHODOLOGY

This study adopted the ex post facto review design which employs past data documented already by relevant statutory bodies namely the Central Bank of Nigeria (CBN) and World Bank. Time series data was employed to estimate and analyze data relating to the impacts of foreign private sector investment on the Real GDP of Nigeria spanning the period 1981 to 2020. The specified multivariate regression model expresses real GDP growth as follows:

RGDP = f(FPSRI, FPSP, GCEXP, POPGR, INF)

This is further stated econometrically as:

 $RGDP_{t} = a_{1} + b_{1}FPSRI_{t} + b_{2}FPSP_{t} + b_{3}GCEXP_{t} + b_{4}POPGR_{t} + b_{5}INF_{t} + \varepsilon_{t}$ (2)

apriori expectations:  $b_1$ ,  $b_2$ ..... $b_8 > 0$  and positively signed/and

Where: RGDP, FPSRI, FPSPI, GCEXP, POPGR and INF are Real Gross Domestic Product, Foreign Private Sector Real Investment, Foreign Private Sector Portfolio Investment, Government capital Expenditure, Population Growth and Inflation Rate, respectively.  $a_1$  and  $b_1$ - $b_5$  are the parameters in the models, stochastic disturbance terms ( $\epsilon$ )

## **RESULTS AND DISCUSSION OF FINDINGS**

Table 1: Augmented Dickey-Fuller (ADF) Unit Root Test

Variables		t-statistic	Critical	Probability	Order
			value		of Integration
			(0.05)		
FPSRI	Level	-2.207415	-2.938987	0.2070	<i>I</i> (1)
	1 <sup>st</sup> Difference	-8.087368	-2.941145	0.0000	
FPSP	Level	-4.222694	-2.938987	0.0019	<i>I</i> (0)
GCEXP	Level	-1.437870	-2.941145	0.5536	<i>I</i> (1)
	1 <sup>st</sup> Difference	-9.255819	-2.941145	0.0000	
POPGR	Level	-1.502565	-2.943427	0.5212	<i>I</i> (1)
	1 <sup>st</sup> Difference	-5.174121	-2.941145	0.0001	
INF	Level	-2.986330	-2.938987	0.0450	<i>I</i> (0)
RGDP	Level	-3.686961	-2.938987	0.0082	<i>I</i> (0)

#### Source: Researcher's Computation using E-views

Table 4.3 shows the results of the stationarity test of the variables employed in the research model, using the ADF unit root test technique. From the result, FPSRI, GCEXP and INF are stationary at their first differences, I(1), whereas FPSP, INF and RGDP are stationary at level. Consequently,

none of the variables have unit roots and thus the results can be relied upon for meaningful interpretation, decision making and economic forecasting.

Variable	Coefficient	Std. Error	t-Statistic	Prob.
FPSRI	4.580150	0.820222	5.584035	0.0005
FPSP	-9.745488	2.151960	-4.528656	0.0019
GCEXP	-2.760204	0.916307	-3.012314	0.0168
POPGR	20.86664	8.589233	2.429395	0.0412
INF	-0.316575	0.055878	-5.665451	0.0005

Table 2: ARDL Long Run and Bounds (Co-integration) Test

EC = RGDP - (4.5802\*FPSRI -9.7455\*FPSP -2.7602\*GCEXP + 20.8666 \*POPGR -0.3166\*INF)

F-Bounds Test		Null Hypothesis: relationship		No	levels
Test Statistic	Value	Signif.	I(0)	I(1)	)
F-statistic K	20.91757 5	10% 5%	Asympto 2.26 2.62	tic: n=1 3.3 3.7	1000 5 9
		1 %0	5.41	4.0	ō

Source: Researcher's Computation using E-views Table 3: ARDL Short Run Test

Variable	Coefficient	Std. Error	t-Statistic	Prob.*
RGDP2(-1)	-0.338503	0.236282	-1.432622	0.1899
RGDP2(-2)	-0.070019	0.144264	-0.485357	0.6404
RGDP2(-3)	0.035394	0.191203	0.185114	0.8577
RGDP2(-4)	-0.300676	0.160444	-1.874031	0.0978
FPSRI	0.568222	1.360837	0.417554	0.6873
FPSRI(-1)	0.608494	1.121647	0.542501	0.6023
FPSRI(-2)	0.551983	1.300633	0.424396	0.6825
FPSRI(-3)	9.271427	1.322289	7.011649	0.0001
FPSRI(-4)	-3.333852	0.979934	-3.402120	0.0093
FPSP	-4.118720	0.860755	-4.785011	0.0014
FPSP(-1)	-1.970646	0.719277	-2.739759	0.0255
FPSP(-2)	-3.043901	0.552592	-5.508406	0.0006
FPSP(-3)	-1.842536	0.845687	-2.178746	0.0610
FPSP(-4)	-5.336236	0.767924	-6.948915	0.0001
GCEXP	-0.445683	0.837418	-0.532211	0.6090

GCEXP(-1)	-1.913085	0.678975	-2.817608	0.0226
GCEXP(-2)	-2.261273	0.601583	-3.758872	0.0056
POPGR	126.5845	78.41536	1.614282	0.1451
POPGR(-1)	-286.1736	120.1474	-2.381854	0.0444
POPGR(-2)	144.7798	79.21748	1.827624	0.1050
POPGR(-3)	129.9846	90.42266	1.437523	0.1885
POPGR(-4)	-80.24864	45.44904	-1.765684	0.1154
INF	-0.022029	0.056882	-0.387273	0.7087
INF(-1)	-0.108578	0.068834	-1.577391	0.1534
INF(-2)	-0.017729	0.054401	-0.325888	0.7529
INF(-3)	-0.256778	0.060859	-4.219216	0.0029
INF(-4)	-0.124771	0.092254	-1.352469	0.2132
С	-60.74833	37.01638	-1.641121	0.1394
R-squared	0.977072	Mean de	pendent var	4.348316
Adjusted R-squared	0.899692	S.D. dependent var		4.611026
S.E. of regression	1.460379	Akaike info criterion		3.646747
Sum squared resid	17.06166	Schwarz criterion		4.878373
Log likelihood	-37.64145	Hannan-Quinn criter.		4.076618
F-statistic	12.62685	Durbin-Watson stat		2.390321
Prob(F-statistic)	0.000458			

## Source: Researcher's Computation using E-views

Since the variables were all found to be stationary, the ARDL long run and Bounds Test were performed as shown in Table 2. Given the differences in the order of integration of the variables, the Bounds Test was employed to determine whether or not the variables are co-integrated; since the conventional Granger (1981) and Engle and Granger (1987) co-integration analysis cannot be applied (Nkoro & Uko, 2016). From the results, the F-statistic of 20.92 is greater than both the 2.62 and 3.79 critical values at the I(0) and I(1) levels. Thus, the null hypothesis is rejected, implying that a dynamic long run relationship exists between the variables employed in the research model. The result also indicates that all the variables significantly influence RGDP in the long run but only FPSRI and POPGR positively influence RGDP.

Variable	Coefficient Std. Error		t-Statistic	Prob.
С	-60.74833	4.263786	-14.24751	0.0000
D(RGDP2(-1))	0.335301	0.083481	4.016487	0.0039
D(RGDP2(-2))	0.265282	0.089344	2.969227	0.0179
D(RGDP2(-3))	0.300676	0.088302	3.405092	0.0093

**ARDL Error Correction Regression Test** 

D(FPSRI)	0.568222	0.489774	1.160173	0.2794
D(FPSRI(-1))	-6.489558	0.669835	-9.688287	0.0000
D(FPSRI(-2))	-5.937575	0.594763	-9.983091	0.0000
D(FPSRI(-3))	3.333852	0.404296	8.246063	0.0000
D(FPSP)	-4.118720	0.380809	-10.81570	0.0000
D(FPSP(-1))	10.22267	0.690766	14.79904	0.0000
D(FPSP(-2))	7.178773	0.634382	11.31617	0.0000
D(FPSP(-3))	5.336236	0.405968	13.14446	0.0000
D(GCEXP)	-0.445683	0.221351	-2.013468	0.0789
D(GCEXP(-1))	2.261273	0.307232	7.360144	0.0001
D(POPGR)	126.5845	27.74729	4.562051	0.0018
D(POPGR(-1))	-194.5158	34.97406	-5.561716	0.0005
D(POPGR(-2))	-49.73600	33.33504	-1.492003	0.1740
D(POPGR(-3))	80.24864	18.64780	4.303384	0.0026
D(INF)	-0.022029	0.027269	-0.807832	0.4425
D(INF(-1))	0.399278	0.038538	10.36064	0.0000
D(INF(-2))	0.381549	0.034997	10.90241	0.0000
D(INF(-3))	0.124771	0.027515	4.534727	0.0019
CointEq(-1)*	-1.673804	0.117205	-14.28098	0.0000
R-squared	0.981758	Mean dependent var		-0.039203
Adjusted R-squared	0.950888	S.D. dependent var		5.169443
S.E. of regression	1.145616	Akaike info criterion		3.368970
Sum squared resid	17.06166	Schwarz criterion		4.380662
Log likelihood	-37.64145	Hannan-Quinn criter.		3.722077
F-statistic	31.80237	Durbin-Watson stat		2.390321
Prob(F-statistic)	0.000000			

## Source: Researcher's Computation using E-views

In the ARDL short run regression result in Table 3, the baseline explanatory variables explained about 90% (adjusted) of the changes in RGDP during the period as a result of the variations in the quantities of the explanatory variables. The high adjusted  $R^2$  is an indication that foreign private investment is critical to economic growth in Nigeria, especially since the deregulation of the economy in 1986. The F-statistic of 12.63 as well as its p-value of 0.0005 show that the model has a very goodness of fit. Similar to the long run results, only FPSRI and POPGR positively influence RGDP in the short run but all the variables are insignificant except FPSP.

From the ARDL ECM regression result in Table 4, 95% of the variations in RGDP are determined by the explanatory variables. The F-statistic of 31.8 and p-value of 0.0000 are also stronger indicating very high goodness of fit of the model. Furthermore, the model adjusts itself backwards with an adjustment speed of 167.4% to its long run equilibrium. The Table also reveals that all the variables maintain the same signs but only FPSP and POPGR are significant at 5%

level of significance; although the lags of all the variables are equally significant except the twoperiod lag of POPGR. The results of the normality, serial correlation, heteroskedasticity and stability tests are presented in appendix.

# **DISCUSSION OF FINDINGS**

From the results in Tables 2 and 3, FPSRI positively influences RGDP but is insignificant in the short run (as also reported in Osuji (2015)). However, the ECM regression result in Table 4 shows that an insignificant positive relationship exists between FPSRI and RGDP in Nigeria, though its one to three period lags are all significant and negative except that of its three-period lag (FPSRI (-3)). The significant positive effect of FPSRI on RGDP is in consonance with the results of Agbanike, Chukwu and Ololo (2018), Anochie, Kalu and Mgbemena (2015), Anochiwa, Enyoghasim, Uwajumogu, Oni, Imolehin, Adelowo and Adejumo (2014), Ugwuegbe, Amah and Onoh (2013)as well as Adegbite and Ayadi (2010), who found that foreign investments positively influences economic growth.

Also, from the ARDL ECM result, a 1% increase in FPSRI enhances RGDP growth by about 0.6%. This stems from the fact that an increase in foreign private real investments leads to an increase in the real capital stock of the country which enhances productivity. However, the negatively signed coefficients and t-statistics established by the one and two period lags of FPSRI (FPSRI (-1)) and FPSRI (-2))) can be attributed to the recentcapital divestments by many international oil companies (IOCs) due to increasing overhead costs brought about by the worsening economy in the country, which caused a big shift from the normal behavioural patterns of RGDP, hence the negative relationship.

On the other hand, FPSP has a significant negative impact on RGDP in both the short and long run as well as in the ECM result in Table 4, although all its lags in the ECM are positive and significant. The implication of the above result is that increasing levels of foreign portfolio investments leads to a reduction in RGDP growth, which is inconsistent with theoretical proposition. This is probably because the returns earned on such investments goes back to the investing economy thereby constituting a leakage in the economy and thus reduces real economic growth.

# CONCLUSION

Based on findings of this study, we conclude that foreign private sector real investment has significant positive impact on real GDP growth (although not significant in the short run) whereas foreign private sector portfolio investment has significant negative impact on real GDP growth in both long and short runs. More so, short run economic disequilibrium can be corrected within a little over seven months to realign the economy on the path of growth.

Consequently, we recommend that:

- Monetary and fiscal policies should be geared towards improving foreign private sector investment, especially foreign direct investments, in order to boost economic growth in Nigeria. This also means that fiscal incentives and monetary policy actions should be put in place to bolster the existence of both domestic and foreign private sector investments in Nigeria.
- The government should also, as urgently as possible, reappraise its infrastructural investment policy, especially in the area of power and energy in order to improve the operating environment of businesses in the country, which is capable of stimulating greater output growth.

# REFERENCES

- Adams, S. (2009). Foreign direct investment, domestic investment and economic growth in Sub-Saharan Africa, *Journal of Policy Modeling, Elsevier*, 31(6):939-949.
- Adegbite, E.O & Ayadi, F.O. (2010). The role of FDI in economic Development: A study of Nigeria, World Journal of Entrepreneurship, Management and Sustainable Development, 6(1/2):133-147.
- Adejumo, A. V. (2013). Foreign direct investments and manufacturing sector performance in Nigeria, 1970–2009. Australian Journal of Business and Management Research, 3(4):39 – 56.
- Adetiloye, K. A. & Adeyemo, K. A. (2012). Domestic Investment, Formation and Population Growth in Nigeria. Developing country studies, 2(7), 87-97. Retrieved from www.iiste.org/journals/index.php/DCS/article/view/2447/2469.
- Adio, W. (2019, February 28). Nigeria loses \$18b yearly to illicit financial flows, *The Guardian*. Retrieved from https://guardian.ng/business-services/nigeria-loses-18b-yearly-to-illicit-financial-flows.
- Ajayi, L. B. & Kolapo, F. T. (2018). Is Domestic Private Investment sensitive to macroeconomic indicators?Further evidence from Nigeria, World Journal of Economics and Finance, 4(2):100-105.
- Alvarez, R., (2003), Inversion extranjeradirecta on Chiley su Impact oSobre la productividad, Departmento de Economia. Universidad de Chile. Retrieved from http/www.personal.ander. Ucla.Edu/Roberto.alvarez/paper IED. Pdf.
- Anochie, U. C., Kalu, U. D. & Mgbemena O. O. (2015). Foreign direct investment (FDI) flows in Nigeria: Pro or economic growth averse? *IOSR Journal of Economics and Finance* (IOSR-JEF), 6(4):84-92.
- Anochiwa, L., Enyoghasim, M., Agbanike, T., Uwajumogu, N., Chukwu, B. Ololo, K. (2018).
  Foreign Direct Investment and Economic Growth: Literature from 1980 to 2018.
  *International Journal of Economics and Financial Issues* 8(5), 309-318 ISSN: 2146-4138. Retrieved from http://www.econjournals.com.

- Anyanwu, J. C. (1998). An econometric investigation of the determinants of foreign direct investment in Nigeria, Annual Conference, Nigeria Economic Society.
- Atoyebi, K.O., Adekunjo, F.O., Kadiri, K.I.&Falana, A.A. (2012). The determinant of domestic private investment in Nigeria, *Journal of Humanities and Social Sciences*, 2(6):046-054.
- Ayeni, R.K. (2014). Macroeconomic determinants of private sector investment: An ARDL approach: Evidence from Nigeria, *Global Advanced Research journal of Management and Business Studies*, 3(2): 082-089.
- Azman-saini, W. N. W., Baharamshah, A. Z. & Law, S. H. (2010) Foreign direct investment (FDI), economic freedom and economic growth: International Evidence, *Economic Modelling*, 27(5):1079-1089.
- Bakare, A.S. (2011). The determinants of private domestic investment in Nigeria, *Far East Journal of Psychology and Business*, 4(2):027-037.
- Balasubramanyan, V.N., Salisu, M. and Sapsford, D. (1996). Foreign direct investment and growth in EP and IS countries, *Economic Journal*, 106 (434):92-105.
- Brooks, C. (2002), *Introductory econometrics for finance*. Cambridge: Cambridge University Press.
- CBN Statistical Bulletin (2018), available at https://www.cbn.gov.ng/
- Clark, J. M. (1923). Studies in the Economics of Overhead costs. The University of Chicago Press. Illinois.
- Combey, A. (2016). The main determinants of private investment in the WAEMU Zone; The dynamic approach, *Munich personal REPEC Archive Papers* No. 8.
- Danladi, J. D. (2015). Determinants of FDI in the West African Monetary Zone (WAMZ): A case study of Ghana, *European Journal of Business and Management*, 7(27):106-114.
- Domar, Evsey (1946). Capital Expansion, Rate of Growth and Employment. *Econometrica*. 14(2): 137-147. Doi.10.2307/1905364 JSTOR 1905364
- Dunning, J. (1979): Explaining changing patterns of international production, Oxford Bulletin of Economics and Statistics, 41(4):269-95
- Egbo, O. O. (2010). An Analysis of Foreign direct investment inflow and economic growth in Nigeria, Ph.D Thesis, University of Nigeria, Enugu Campus.
- Ekanayake, E., Vogel, R. & Veeramacheneni, B. (2003). Openness and economic growth: Empirical evidence on the relationship between output, inward FDI, and trade. *Journal* of Business Strategies, 20:59-7.
- Ekperiware, C.M.(2011). Oil and non-oil FDI and economic growth in Nigeria, *Emerging Trends in Economics and Management Sciences* (JETEMS), 2(4):333-343.
- Ekpo, U.N.(2016). Determinants of Private Investment in Nigeria: An empirical exploration, *Journal of Economic and Sustainable Development*, 7(11), 080-092.

- Ekpo, A. H. (1995). Public expenditure and economic growth in Nigeria (1960-1992), Final Report Submitted to AERC, Nairobi, Kenya.
- Ekpo, A. H. (1997). Determinants of foreign direct investment in Nigeria: Evidence from time series data. *CBN Economic and Financial Review*, 35(1):59–78.
- Essien, E. A. (2001) Nigerian Economic Growth Determinants, *CBN Economic and Financial Review*.
- Essien, E. A. and S. Bawa (2007). Explaining Growth: A Cross Country Analysis of West African Monetary Zone (WAMZ). *CBN Economic and Financial Review*.
- Esubalew, T.A. (2014). An investigation of macroeconomic determinants of from East Africa. An unpublished M. A. Dissertation submitted to the institute of Social Studies. The Hague, Netherlands.
- Ezeanyeji, C.I.&Ifeako, M. (2019). Foreign portfolio investment on economic growth of Nigeria: An impact analysis, *International Journal of Academic Management Science Research* (IJAMSR), 3(3):24-36,www.ijeais.org/ijamsr
- George-Anokwuru, C.C. (2017). Interest rate and domestic private investment in Nigeria, International Journal of Economics and Business Management, 3(5): 043-049.
- Ghazali, A. (2010). Analysing the relationship between foreign direct investment, domestic investment and economic growth for Pakistan, *International Research Journal of Finance and Economics*, 47:123-131.
- Gujarati, D. N. (2003). Basic Econometrics. 4th ed., New York: McGraw-Hill.
- Gujarati, D. N. (1995). Basic Econometrics. 3rd ed., New York: McGraw-Hill.
- Harrod, Roy F. (1939), An Essay in Dynamic Theory. The Economic Journal. 49(193): 14-33. Doi:10.2307/2225181 JSTOR 2225181.
- Hurník, J. &Hájková, D. (2007). Supply-side performance in the Czech Republic: A macroeconomic view (1995-2005), Prague Economic Papers, University of Economics, Prague, 4:319-335.
- Ilegbinosa, I. A., Michael, A., & Watson S. I. (2015). Domestic investment and economic growth in Nigeria from 1970-2013: An econometric analysis, *Canadian Social Science*, 11(6):70-79. Available from: http://www.cscanada.net
- Imoisi, A. I., Abuo, M. & Sogules, I. W. (2015). Domestic investment and economic growth in Nigeria from 1970-2013: Aneconometric analysis. *Canadian Social Science*, 11(6), 70-79. Retrieved fromhttp://www.cscanada.net/index.php/css/article/viewFile/7009/pdf 357
- Johansen, S., 1995. *Likelihood-based inference in cointegrated vector auto-regressive models*. New York: Oxford University Press, Inc.
- Johansen, S. (1991). Estimation and hypothesis testing of cointegration vectors in Gaussian vector autoregressive models, *Econometrica*, 59:1551-80.

- Kalu, C.U. and Onyinye, M.O. (2015).Domestic private investment and economic growth in Nigeria: Issues and further consideration, *International Journal of Academic Research in Business and Social Sciences*, 3(5):302-314.
- Kaputo, C.C. (2011). Macroeconomic policy and domestic private investment of Zambia, 1980-2008. An unpublished M.A. Dissertation, submitted to the Department of Economics, University of Zambia, Lusaka.
- Kiiza, B. &Seguya, E. (2016). FDI and Economic growth in the East African Community Trade Block, *Review of Economic and Finance*, 6(3):88-101.
- Lasbrey, A., Enyoghasim, M., Tobechi, A.Uwajumogu, N. &Chukwu, (2018). Foreign Direct Investment and Economic Growth: Literature from 1980 to 2018, *International Journal* of Economics and Financial Issues, 8(5):309-318
- Lewis, Arthur W. (1978). Theory of Economic Growth London. George Allen Unwin Press.
- Lipsey, R. E. (1982). Foreign direct investment in international capital flows, National Bureau of Economic Research working paper series, University of Chicago Press.
- Majeed, M.T.&Khan, S. (2008). The determinants of private investment and the relationship between public and private investment in Pakistan, *Journal of Business and Economics*, 1(1):041-048.
- Markowitz, H. (1952). Portfolio Selection, *The Journal of Finance*, 7(1):77-91.
- Masoud, N. & Abu S., S. (2014). The CAPM, determinants of portfolio flows to emerging markets economics: The case of Jordanian financial crisis. *Global Journal of Management and Business Research*, 14(3):12-22.
- Meade, J. E. (1956). A Neoclassical Theory of Economic Growth Economic Growth and Capital Accumulation in Economic Record, pp. 334-361.
- National Bureau of Statistics (December, 2019). *Corruption in Nigeria: Patterns and Trends* (Second Survey on Corruption as Experienced by the Population), In collaboration With the United Nations Office on Drugs and Crime and UK Aid.
- Nelson, D. (2016). What are the different types of foreign investment? Retrieved from https://www.wisegeek.com/what-are-the-different-types-of-foreign-nvestment.htm
- Nkurikiye, J. B. &Uwizeyimana, E. (2016).Effect of Gross Domestic Product, interest rate and inflation on Private Investment in Rwanda, *International Academic Institute for Science and Technology*, 3(1):1-17.
- Nwakoby, C. and Alajekwe, U. B. (2016) Effect of private sector investment on economic growth in Nigeria. *Nigerian Journal of Social Development*, 5(4):150-167
- OECD (2000). Main determinants and impacts of foreign direct investment on China's economy. *OECD Working Papers on International Investment*, No. 2000/04, OECD Publishing. Doi: 10.1787/321677880185.

- Ogujiuba, K. &Obiechina, E. (2012). Foreign private capital, economic growth and macroeconomic indicators in Nigeria: An empirical framework, *International Journal of Economics and Finance Archives*, 4(10):111-124.
- Ojo, O., Oshikoya, T. (1995). Determinants of long-term growth: Some African results, *Journal of African Economies*, 4(2).
- Okafor, I. G., Ugwuegbe, U. S. &Ezeaku, C. H. (2016). Foreign capital inflows and Nigerian economic growth nexus: A Toda Yamamoto approach, *European Journal of Accounting, Auditing and Finance Research*, 4(3):16-26.
- Okoduwa, I.A. (2007). Where Bottom Dropped off Manufacturing Innovation in Nigeria: An Example of the Esan People in Edo State, *Kamla-Raj. Stud. Tribes Tribals*, 5(1): pp. 29-34.
- Omotor, D. G. Y. &Gbosi, A. N. (2007). The dynamics of productivity and unemployment nexus: Implications for employment generation in Nigeria. *Employment Generation in Nigeria*. Ibadan: The Nigerian Economic Society.
- Oni, T. O., Imolehin, O. A., Adelowo, W. B. & Adejumo, A. V. (2014). Foreign private investment and economic growth in Nigeria (1980 – 2010). *International Journal of Development and Economic Sustainability*, 2(1), 39-48. Retrieved from http://www.eajournals.org/wp-content/uploads/Foreign-Private-Investment-and-Economic- Growth-in-Nigeria-1980-%E2%80%93-2010.pdf.
- Onoh, J. K. (1993) Risk/Reward of Capital and Money Markets at the 27<sup>th</sup> Annual Conference of the Chartered Institute of Bankers, Concord Hotel, Owerri.
- Onoh, J. K. (1972) Strategic Approaches to Crucial Policies in Economic Development: A Macro Link Study in Capital Formation, Technology and Money. Rotterdam University Press, Holland.
- Onoh, J.K. (2002): *Dynamics of Money Banking and Finance in Nigeria*. Aba, Enugu, Lagos: Astra Meridian.Onoh, J.K. (2013): Dimensions of Nigeria's Monetary & Fiscal Policies. Astra Meridian, Aba.
- Oscar, B. & Simon, S. R. (1994). An econometric analysis of foreign investment in Spain, 1964-1989, *Southern Economic Journal*, 16(1):104-120.
- Osuji, E. (2015). Foreign direct investment and economic growth in Nigeria: Evidence from bounds testing and ARDL models, *Journal of Economics and Sustainable Development*, 6(13):205-211.
- Oyaide, W.G. (1977). The role of direct foreign investment: A case study of Nigeria, 1963-1973. Washington D.C: United Press of America,
- Patterson, C. E. &Okafor, E. W. (2007). Globalization and employment generation: Evaluating the impact of trade on aggregate employment in Nigeria's Industrial Sector. *EmploymentGeneration in Nigeria*. Ibadan: The Nigerian Economic Society

- Romer, P. (1994). The Origin of Endogenous Growth. *The Journal of Economic Perspective Vol. 8 Issues* (Winter).
- Seabra, F. &Flach,L. (2005). Foreign direct investment and profit outflows: A causality analysis for the Brazilian economy, *Economics Bulletin*, 6(1):1–15.
- Singer, H. W. (1965). External Aid: for plans or projects, *The Economic Journal*, September, 1965.
- Solow, R. M. (1956), A Contribution to the Theory of Economic Growth, *in Quarterly Journal* of Economics pp. 65-94.
- Soludo, C. C. (1998). Investment in the Growth Process: A Measure of the Economists ignorance in Africa. In: B. A. Aigbhkan, ed. Rekindling Investment for Economic Development in Nigeria, *The Nigerian Economic Society*, Ibadan, 1-33.
- Sornarajah, M. (2010). *The international law of foreign investment*. Cambridge: Cambridge University Press. https://dio org/10.1017/CB09780511841439.
- Suhendra, I. & Anwar, C. J. (2014). Determinants of private investment and the effects on economic growth in Indonesia. *GSTF International Journal on Business Review*, 3(3), 128–132. Retrieved from http://download.springer.com/static/pdf/337/art%253A10.7603%252Fs40706-014-0028-4.pdf?originUrl=http%3A%2F%2F.
- Sun, H. (1996). Direct foreign investment and linkage effect: The experience of China, *Asian Economics*, 25:5-28.
- Swan, T. W. (1957). Technical change and the Aggregate Production Function, *In Review of Economics and Statistics Aug. 1957, pp. 312 320.*
- Tan, B. W., & Tang, C. F (2011). The dynamic relationship between private domestic investment, the user cost of capital and economic growth in Malaysia. *MPRA Paper* No. 27964.
- Tokunbo, S. O. & Lloyd, A. A. (2010). Foreign private investment and economic growth in Nigeria. *Review of Economic and Business Studies*, 3(1):105 -127.
- Transparency International Corruption Perception Index (2020), Retrieved from: https://www.transparency.org/en/cpi/2020/index/
- Ugwuegbe S. U., Okore, O. A. and Onoh, J. O. (2013). The impact of foreign direct investment on the Nigerian economy, *European Journal of Business and Management*, 5(2):25-33.
- Umoh, O.J, Jacob, A.O. & Chuku, A.C. (2011). Foreign direct investment (FDI) and economic growth in Nigeria: An analysis of the endogenous effects. *Current Research Journal of Economic Theory*, 4(3):53-66.
- Uwakaeme, O. S. (2015). Economic Growth in Nigeria: An Empirical investigation of Determinants and causal relationship (1980 – 2012). American journal of Economics P-ISSN: 2166-4951 e-ISSN: 2166-496X 2015; 5(1): 9-20 doi: 10.5923/j, economics. 20150501.02.

- White, H. (1980). A hetetroskedasticity-consistent covariance matrix and a direct test for heteroskedasticity. Econometrica. 48: 817-838.
- World Bank (1996). World Debt Tables: External Finance for Developing Countries, (Analysis and Summary Tables). Washington, D.C.: The World Bank.
- World Bank (2014). World development indicators. Washington, D. C.: World Bank.
- World Bank and OECD National Accounts Data (2018), available at https://data.worldbank.org
- Yesufu T. M. (1996). *The Nigerian Economy: Growth without Development*. The University of Benin Social Science series for Africa.